

The Multiplier for the Ball and Radial Functions

SAGUN CHANILLO

Department of Mathematics, Indiana University, Bloomington, Indiana 47405

Communicated by C. Foias

Received October 20, 1982

It is shown that the multiplier for the ball is restricted weak type on radial functions in $L^p(\mathbb{R}^n)$ when $p = 2n/(n + 1)$. Interpolation then yields a theorem of Herz.

INTRODUCTION

We wish to examine here the weak behavior of a certain multiplier operator. Let $B = \{\xi \in \mathbb{R}^n, |\xi| \leq 1\}$. Let $\hat{\cdot}$ denote the Fourier transform. We wish to study the operator $Tf(\xi) = \chi_B(\xi) \hat{f}(\xi)$. A theorem of Herz [3] shows that for $L^p(\mathbb{R}^n)$ radial functions we have,

$$\|Tf\|_p \leq c_p \|f\|_p, \quad \frac{2n}{n+1} < p < \frac{2n}{n-1}.$$

In contrast a celebrated theorem of Fefferman [2] shows that for general functions in $L^p(\mathbb{R}^n)$, the operator T is bounded if and only if $p = 2$. Recently Kenig and Tomas [5] have shown that the operator T is not weak type on $L^p(\mathbb{R}^n)$ radial functions when $p = 2n/(n + 1)$. We prove here the following theorem.

THEOREM. *Let $\chi_E(x)$ be radial, then, for $\lambda > 0$,*

$$|\{x \in \mathbb{R}^n : |T\chi_E(x)| > \lambda\}| \leq (c/\lambda^{2n/(n+1)})|E|, \quad n \geq 2.$$

The constant c does not depend on E or λ .

This means that the operator T is restricted weak type at the index $2n/(n + 1)$. Using a well-known interpolation result due to Stein and Weiss [6], we may use our theorem above and the trivial estimate $\|Tf\|_2 \leq c \|f\|_2$ and by interpolation on the space $(\int_0^\infty |f(r)|^p r^{n-1} dr)^{1/p}$ obtain the result of Herz. The method of proof parallels our earlier result on Legendre polynomials [1].

There is another motivation for our theorem and it comes from restriction phenomena for the Fourier transform. For functions which are compactly supported and for $|x|$ large, one roughly has,

$$Tf(x) \sim c \frac{\hat{f}(x/|x|)}{|x|^{(n+1)/2}}.$$

Thus if $f(x)$ is radial, $\hat{f}(x/|x|)$ is a constant and the question of weak type at $2n/(n+1)$ is quickly seen to be connected with the estimate,

$$\|\hat{f}\|_{L^{\infty}(S^{n-1})} \leq C \|f\|_{2n/(n+1)},$$

S^{n-1} being the surface of the sphere in n dimensions. It is easy to see that the inequality above fails for arbitrary radial functions thus explaining the result of [5], but does hold when $f(x) = \chi_E(x)$ and $\chi_E(x)$ radial.

Before we begin with the proofs we note that given a set $E \subset \mathbb{R}^n$, such that $\chi_E(x)$ is radial we may consider it to be a set \tilde{E} in $(0, \infty)$ equipped with the measure $r^{n-1} dr$, i.e.,

$$|E| = \int_0^{\infty} \chi_{\tilde{E}}(r) r^{n-1} dr.$$

With a slight abuse of notation we shall henceforth denote \tilde{E} by E itself. We also need the following basic estimate for the Bessel functions,

$$|J_m(t)| \leq ct^{-1/2}.$$

Here c depends only on the order m . This may be found in [6] or [7].

To prove the theorem we begin with the following lemma.

LEMMA. For any set $E \subset (0, \infty)$,

$$\int_0^{\infty} \chi_E(r) r^{(n-1)/2} dr \leq c \left(\int_0^{\infty} \chi_E(r) r^{n-1} dr \right)^{(n+1)/2n}.$$

Proof. We rewrite the integral on the left as,

$$\int_0^{\infty} \chi_E(r) r^{-(n-1)/2} r^{n-1} dr.$$

Now we note that $r^{-(n-1)/2} \in L(2n/(n-1), \infty)$ with respect to the measure $r^{n-1} dr$. We may thus apply Theorem (4.5) of [4] to obtain the conclusion of the lemma. Q.E.D.

Proof of Theorem. Let $s = (\sum_{i=1}^n x_i^2)^{1/2}$. Then from [5] or [7, p. 134] we know that for any radial function $f(r)$,

$$Tf(s) = \frac{2\pi}{s^{(n-2)/2}} \int_0^\infty \frac{(sJ_{(n-2)/2}(2\pi r)J_{n/2}(2\pi s) - rJ_{(n-2)/2}(2\pi s)J_{n/2}(2\pi r))}{s^2 - r^2} \times f(r) r^{n/2} dr. \quad (1)$$

Let $I_k = \{r: 2^k < r \leq 2^{k+1}\}$. We decompose $\chi_E(r)$ as follows. Let $f_{1,k}(r) = \chi_E(r)\chi(r < 2^{k-1})$, $f_{2,k}(r) = \chi_E(r)\chi(2^{k-1} \leq r < 2^{k+2})$, and $f_{3,k}(r) = \chi_E(r)\chi(r > 2^{k+2})$. Note now that,

$$\chi_E(r) = f_{1,k}(r) + f_{2,k}(r) + f_{3,k}(r).$$

Now,

$$\{s: |T\chi_E(s)| > \lambda\} = \bigcup_k \{s: |T\chi_E(s)| > \lambda\} \cap I_k. \quad (2)$$

We further decompose (2) by noting that the right side above is contained in,

$$\bigcup_k \left(\left\{s: |Tf_{1,k}(s)| > \frac{\lambda}{3}\right\} \cup \left\{s: |Tf_{2,k}(s)| > \frac{\lambda}{3}\right\} \cup \left\{s: |Tf_{3,k}(s)| > \frac{\lambda}{3}\right\} \right) \cap I_k. \quad (3)$$

We now claim that,

$$\begin{aligned} & \left(\left\{s: |Tf_{1,k}(s)| > \frac{\lambda}{3}\right\} \cup \left\{s: |Tf_{3,k}(s)| > \frac{\lambda}{3}\right\} \right) \cap I_k \\ & \subset \left\{s: \frac{|E|^{(n+1)/2n}}{s^{(n+1)/2}} > c\lambda\right\}. \end{aligned} \quad (4)$$

To see this, we use (1). Thus for $s \in I_k$, we have $s > 2r$, if r is in the support of $f_{1,k}(r)$. Thus,

$$\begin{aligned} |Tf_{1,k}(s)| & \leq \frac{c}{s^{(n-2)/2}} \int_{s>2r} \frac{s^{1/2}r^{-1/2} + r^{1/2}s^{-1/2}}{s^2} \chi_E(r) r^{n/2} dr \\ & \leq \frac{c}{s^{(n+1)/2}} \int_{s>2r} (r^{-1/2} + r^{1/2}s^{-1}) \chi_E(r) r^{n/2} dr. \end{aligned}$$

But because $s > 2r$, the last expression is bounded by,

$$\frac{c}{s^{(n+1)/2}} \int_0^\infty \chi_E(r) r^{(n-1)/2} dr.$$

By the lemma, the term above is bounded by,

$$\frac{c}{s^{(n+1)/2}} \left(\int_0^\infty \chi_E(r) r^{n-1} dr \right)^{(n+1)/2n} = \frac{c |E|^{(n+1)/2n}}{s^{(n+1)/2}}.$$

Thus, we have shown that,

$$\{s: |Tf_{1,k}(s)| > \lambda/3\} \cap I_k \subset \left\{s: \frac{|E|^{(n+1)/2n}}{s^{(n+1)/2}} > c\lambda\right\}. \quad (5)$$

Now, for $s \in I_k$, we have $2s \leq r$, for r in the support of $f_{3,k}(r)$. Thus,

$$\begin{aligned} |Tf_{3,k}(s)| &\leq \frac{c}{s^{(n-2)/2}} \int_{2s \leq r} \left(\frac{s^{1/2} r^{-1/2} + r^{1/2} s^{-1/2}}{r^2} \right) \chi_E(r) r^{n/2} dr. \\ &\leq \frac{c}{s^{(n-2)/2}} \int_{2s \leq r} \left(\frac{s^{1/2} r^{-1/2}}{s^2} + \frac{r^{1/2} s^{-1/2}}{rs} \right) \chi_E(r) r^{n/2} dr. \\ &\leq \frac{c}{s^{(n+1)/2}} \int_0^\infty \chi_E(r) r^{(n-1)/2} dr. \end{aligned}$$

Thus again by the lemma, the expression above is bounded by $cs^{-(n+1)/2} |E|^{(n+1)/2n}$. We have thus proved that,

$$\{s: |Tf_{3,k}(s)| > \lambda/3\} \cap I_k \subset \left\{s: \frac{|E|^{(n+1)/2n}}{s^{(n+1)/2}} > c\lambda\right\}. \quad (6)$$

Thus (5) and (6) together prove (4) as claimed.

Now consider $Tf_{2,k}(s)$. We rewrite it as follows:

$$\begin{aligned} Tf_{2,k}(s) &= \frac{2\pi}{s^{(n-2)/2}} \int_0^\infty \frac{(sJ_{(n-2)/2}(2\pi r) J_{n/2}(2\pi s) - rJ_{(n-2)/2}(2\pi s) J_{n/2}(2\pi r))}{s-r} \\ &\quad \times \left(\frac{r}{s+r} - \frac{1}{2} \right) f_{2,k}(r) r^{(n/2)-1} dr \\ &\quad + \frac{\pi}{s^{(n-2)/2}} \int_0^\infty \frac{sJ_{(n-2)/2}(2\pi r) J_{n/2}(2\pi s) f_{2,k}(r) r^{(n/2)-1}}{s-r} dr \\ &\quad - \frac{\pi}{s^{(n-2)/2}} \int_0^\infty \frac{rJ_{(n-2)/2}(2\pi s) J_{n/2}(2\pi r) f_{2,k}(r) r^{(n/2)-1}}{s-r} dr \\ &\equiv A_k(s) + B_k(s) + C_k(s). \end{aligned}$$

Now because $r/(s+r) - \frac{1}{2} = (r-s)/2(r+s)$,

$$|A_k(s)| \leq \frac{c}{s^{(n-2)/2}} \int_{2^{k-1}}^{2^{k+2}} \frac{(s^{1/2}r^{-1/2} + r^{1/2}s^{-1/2})}{r+s} \chi_E(r) r^{(n/2)-1} dr.$$

Thus for $s \in I_k$,

$$|A_k(s)| \leq \frac{c}{s^{(n+1)/2}} \int_0^\infty \chi_E(r) r^{(n-1)/2} dr \leq c \frac{|E|^{(n+1)/2n}}{s^{(n+1)/2}}. \quad (7)$$

We now denote the Hilbert transform by H . Then,

$$B_k(s) = \frac{\pi s J_{n/2}(2\pi s)}{s^{(n-2)/2}} H(f_{2,k}(r) r^{(n/2)-1} J_{(n-2)/2}(2\pi r))(s),$$

$$C_k(s) = \frac{-\pi J_{(n-2)/2}(2\pi s)}{s^{(n-2)/2}} H(f_{2,k}(r) r^{n/2} J_{n/2}(2\pi r))(s).$$

Thus from (3), (4),

$$\begin{aligned} |\{s: |T\chi_E(s)| > \lambda\}| &\leq c \left\{ \left\{ s: \frac{|E|^{(n+1)/2n}}{s^{(n+1)/2}} > c\lambda \right\} \right. \\ &\quad + \sum_{k=-\infty}^{\infty} |\{s \in I_k: |A_k(s)| > c\lambda\}| \\ &\quad + \sum_{k=-\infty}^{\infty} |\{s \in I_k: |B_k(s)| > c\lambda\}| \\ &\quad \left. + \sum_{k=-\infty}^{\infty} |\{s \in I_k: |C_k(s)| > c\lambda\}| \right\}. \end{aligned}$$

In view of (7) and because the I_k 's are disjoint, the right side above is bounded by,

$$\begin{aligned} &\left| \left\{ s: \frac{|E|^{(n+1)/2n}}{s^{(n+1)/2}} > c\lambda \right\} \right| + \sum_{k=-\infty}^{\infty} |\{s \in I_k: |B_k(s)| > c\lambda\}| \\ &\quad + \sum_{k=-\infty}^{\infty} |\{s \in I_k: |C_k(s)| > c\lambda\}|. \end{aligned} \quad (8)$$

But,

$$\left| \left\{ s: \frac{|E|^{(n+1)/2n}}{s^{(n+1)/2}} > c\lambda \right\} \right| \leq c \int_0^{|E|^{1/n\lambda - 2/(n+1)}} s^{n-1} ds = \frac{c|E|}{\lambda^{2n/(n+1)}}.$$

Now,

$$\begin{aligned}
 & \sum_{k=-\infty}^{\infty} |\{s \in I_k : |B_k(s)| > c\lambda\}| \\
 & \leq \sum_{k=-\infty}^{\infty} \left| \left\{ s \in I_k : \frac{|H(f_{2,k}(r)r^{(n/2)-1} J_{(n-2)/2}(2\pi r))(s)|}{s^{(n-3)/2}} > c\lambda \right\} \right| \\
 & \leq \sum_{k=-\infty}^{\infty} |\{s \in I_k : |H(f_{2,k}(r)r^{(n/2)-1} J_{(n-2)/2}(2\pi r))(s)| > c2^{k(n-3)/2} \lambda\}| \\
 & \leq \frac{c}{\lambda^{2n/(n+1)}} \sum_{k=-\infty}^{\infty} 2^{-kn(n-3)/(n+1)} \int_{I_k} \\
 & \quad \times |H(f_{2,k}(r)r^{(n/2)-1} J_{(n-2)/2}(2\pi r))(s)|^{2n/(n+1)} s^{n-1} ds \\
 & \leq \frac{c}{\lambda^{2n/(n+1)}} \sum_{k=-\infty}^{\infty} 2^{k(n-1-n(n-3)/(n+1))} \int_{I_k} \\
 & \quad \times |H(f_{2,k}(r)r^{(n/2)-1} J_{(n-2)/2}(2\pi r))(s)|^{2n/(n+1)} ds.
 \end{aligned}$$

Using the M. Riesz inequality for the Hilbert transform the last term is bounded by,

$$\frac{c}{\lambda^{2n/(n+1)}} \sum_{k=-\infty}^{\infty} 2^{k(n-1-n(n-3)/(n+1))} \int |f_{2,k}(r)|^{2n/(n+1)} r^{n(n-3)/(n+1)} dr.$$

But the expression above is bounded by,

$$\frac{c}{\lambda^{2n/(n+1)}} \sum_{k=-\infty}^{\infty} \int |f_{2,k}(r)|^{2n/(n+1)} r^{n-1} dr \leq \frac{c|E|}{\lambda^{2n/(n+1)}}.$$

The last inequality follows because the supports of $f_{2,k}(r)$ have bounded overlaps and lie in the sets $\{r: 2^{k-1} < r < 2^{k+1/2}\}$.

We now estimate $\sum_{k=-\infty}^{\infty} |\{s \in I_k : |C_k(s)| > c\lambda\}|$ in a similar fashion. Now,

$$\begin{aligned}
 & \sum_{k=-\infty}^{\infty} |\{s \in I_k : |C_k(s)| > c\lambda\}| \\
 & \leq \sum_{k=-\infty}^{\infty} |\{s \in I_k : |H(f_{2,k}(r)r^{n/2} J_{n/2}(2\pi r))(s)| > c2^{k(n-1)/2} \lambda\}| \\
 & \leq \frac{c}{\lambda^{2n/(n+1)}} \sum_{k=-\infty}^{\infty} 2^{-kn(n-1)/(n+1)} \int_{I_k} \\
 & \quad \times |H(f_{2,k}(r)r^{n/2} J_{n/2}(2\pi r))(s)|^{2n/(n+1)} s^{n-1} ds
 \end{aligned}$$

$$\leq \frac{c}{\lambda^{2n/(n+1)}} \sum_{k=-\infty}^{\infty} 2^{k(n-1-n(n-1)/(n+1))} \int_{\mathbb{R}} \times |H(f_{2,k}(r) r^{n/2} J_{n/2}(2\pi r))(s)|^{2n/(n+1)} ds.$$

Thus by the M. Riesz inequality the expression above is bounded by,

$$\frac{c}{\lambda^{2n/(n+1)}} \sum_{k=-\infty}^{\infty} 2^{k(n-1-n(n-1)/(n+1))} \int_{\mathbb{R}} |f_{2,k}(r)|^{2n/(n+1)} r^{n(n-1)/(n+1)} dr$$

$$\leq \frac{c}{\lambda^{2n/(n+1)}} \sum_{k=-\infty}^{\infty} \int |f_{2,k}(r)|^{2n/(n+1)} r^{n-1} dr.$$

By bounded overlaps again, the last term is bounded by, $c|E|\lambda^{-2n/(n+1)}$. Thus all three terms in (8) may be bounded by $c|E|\lambda^{-2n/(n+1)}$. This proves the theorem. Q.E.D.

REFERENCES

1. S. CHANILLO, On the weak behaviour of partial sums of Legendre series, *Trans. Amer. Math. Soc.* **268** (1981), 367–376.
2. C. FEFERMAN, The multiplier for the ball, *Ann. of Math.* **94** (1971), 330–336.
3. C. HERZ, On the mean inversion of Fourier and Hankel transforms, *Proc. Nat. Acad. Sci. U.S.A.* **40** (1954), 996–999.
4. R. HUNT, On $L(p, q)$ space, *Enseign. Math.* **12** (1966), 249–275.
5. C. KENIG AND P. TOMAS, The weak behavior of spherical means, *Proc. Amer. Math. Soc.* **78** (1980), 48–50.
6. E. M. STEIN AND G. WEISS, “Introduction to Fourier Analysis on Euclidean Spaces.” Princeton Univ. Press, Princeton, N.J., 1971.
7. G. N. WATSON, “A Treatise on the Theory of Bessel Functions,” 2nd ed., Cambridge Univ. Press., London/New York, 1966.